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Attempt ANY FOUR Questions

| Que.1

(a) What is mean by Secondary data? Give various sources to obtain it. (7)
(bYWhat is mean by Primary data? Explain any one method for collecting  (8)
primary data.

Que.2

(a) Explain : Variable , Constant and frequency distribution. (7

(b) Prepare an inclusive frequency distribution of which one class must (8)
" be 30-39.

34,46,45,37,36,36,25,18,32,14,40,5 6,60,35,39,8,44,64,54,20,22,42,24,3 0,35

Que.3

' (2)Which are the various measures of Central Tendency? Explain any one (7)
measure in brief.
(b) Find Mean, Median , Mode from the following data. (8)

0

x 10 11 12 13 [4 [5 16 7
F 25 [16 |36 |48 (30 |16 |15 {3 |2

Que4

(2) Find Mean and Standard deviation for the following data: (7)

C43 GARN




[ Class [0-9 10-19 | 20-29 [ 30-39 | 40-49 [ 50-59 [ 60-69 70-79 | Total
f 6 14 16 24 20 10 6 4 100

(b) Find Q;, D¢ from the foliowing data: 3]
Class 0-10 | 10-20 |20-30 [30-40 |40-350 |50-60 60-70 | 70-30
Frequency | 5 8 7 12 28 20 10 10

Que.5

(a) In usual notations state and prove additional theorem of probability for (7

two joint events.

(6) IFP(A)=0.5, P(B)=0.25 and P(ANB)=0.17 than find P(A U B) ,p(A/B) )
and P(A'NB?).

Que.6
(2) Explain: Sample space, Complementary event and Mutually exclusive - (7)
events with one illustration in reference to Probability,

(b) A,Band C are given an example. The probabilities that they will solve 8)
the example correctly are respectively% , % and %. Find the probability
that at least one of them will solve the example correctly.

Que.7

(a) Stat probability mass function and properties of Binomial distribution, (7)

(b) Using Poisson distribution find the expected frequencies for the &)
following data: e'=0,368 | '
Number of 0 1 12 3 [a
Accidents . :
Days 37 [36 |19 6 12
Que.8
(a) Give p.d.f. and properties of Normal distribution, X0
(b) A unbiased coin is tossed 6 times, Find probability of getting (8)

(1) Exactly 2 heads (2) At least 5 heads .
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- Que.l
() 902l HBA D2 g7 g HER A Rovatet @At yilta reusll el )
(b) YLels MR A2 g2 wiefls Wl Rnedtedl Augl As dd uHemdl. @®)
Que.2 |
(@) 1oadl : U, uie A WyR By - %
() A5 a2 30-39 2t Ag AR ewzs vglllAdze Az s2A, (8)

34,46,45,37,36,36,25,18,32,14,40,56,60,3 5,39,8,44,64,54,20,22,42,24,30,35

Que.3
(a) Heatetcll R 1l 52 B 79 A As i gsHi aMmcl. (N
() ol Qs UG [Elct2eL M HkRts, HERRY Aol sigets AAcl, (8)
x 10 [L 2 3 4 5 6 7 [8
f 25 |16 |36 |48 |30 16 15 [3 |2
Qued
(@) A 2Rl urel Heats , Y@ Qe Aad: | o)

aol 09 |10-19 [2029 [3039 [4049 [50-59 | 60-69 |70 | gt
waR (6 |14 |16 (24 |2 |10 [6 |4 100
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®) o0l B uzell @, ua D dod (8)

adl 010 11020 120-30 [30-40 [ 4050 | 5060 ] 60-70 T 5050
wgR |5 |8 7 2 128 T |10 10

ue.5
g) SR8 ol Abetul A dysel Uzel w3a]) el ctottel MRl YDy il ud (7
U 53, |
(b) %L P(A)=0.5, P(B)=0.25 40} P(ANB)=0.17 &2l A P(A U B) LP(A/B) (8)
AAPANBY) Nadl

Que.6

(@) Ped aaistar, yes teey wa yorys Blei2s desi2l Ao clotell g el 0)
U8 GeleQl U unemdl,

(5) A,B el C A R £LUER BUclm] WA B, A2 etel A o1 Ael) ()
UeLclol BaisR >, S ud = 8. Qall wizll aleiu] W0 g sy el w2 A

ofl Aedon 04,

Que.7

@Bud [QAet2ato] dieuael uze QR uU oyeeull %q{t:ﬁ. | O
(bydetdtot [Actagod Guaor sAR o Ael] Bl g UARA 29 Rl A - (8)
e'=0368 _ _
W&mmcﬂ vy |0 ! z 3 4
] R aall 37 36 19 6 2
Que.8
(a) UMt [ActRauo] deitciott uzc Rz U AR R, M
(&) A8 AA@etct RS 6 itz Gty WA B, ' (8)

(1) 2 AR BUUR (2) Wes1u] e 5 91y U Aol denctoy A
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